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£32 M uy b ArTrRA—var—F (r7rm (KA )
PILOT CARD
Ship name Container 10,000TEU (FULL) Date 2016/8/10
Gross Tonnage 170,000 ton Deadweight 158,000 ton Year built
Draught aft 14.50 m/ ft in, Forward 14.50 m/ ft in, Displacement ton
SHIP’ S PARTICULARS
Length overall 397.71 m  Anchor chain: Port 16 shackles, Starboard 16 shackles
Breadth 56.40 m Stern shackles
Bulbous bow (Yes)/ No (1 Shackle= 27.5 fathoms)
STEERING
Rudders 1 (number) 0 ° (maximum angle)
Propellers 1 (number) Direction of turn Left /
Thrusters 2 (number) Bow power 55.0 ton Stern power 55.0 ton
171.90 m—pe—— 22581 m —— P
T draught
56.40 59.45 m 73.95 m
l / — @

P A

Type of engine: Diesel Maximum power: 80,170 kW
Type of propellers: Fixed Pitch
Manoeuvring Engine order RPM Toaded Speed(knots Ballast
Navigation Full 104 25.0
Full ahead 65 16.2
Half ahead 50 12.4
Slow ahead 35 8.6
Dead slow ahead 25 5.9
Dead slow astern 28 Time limit astern (No limit) min
Slow astern 39 Full ahead to full astern sec
Mazx.no.of consec.starts

Half astern 55 Minimum RPM , knots
Full astern 72 Astern power % ahead




£33 Ay b A TrRA—varI—F (U7 () )
PILOT CARD
Ship name Container 8,000TEU (FULL) Date 2016/8/4
Gross Tonnage 89,800 ton Deadweight 100,000 ton Year built
Draught aft 14.50 m/ ft in, Forward 14.50 m/ ft in, Displacement ton
SHIP’ S PARTICULARS
Length overall 334.07 m  Anchor chain: Port 15 shackles, Starboard 15 shackles
Breadth 42.80 m Stern shackles
Bulbous bow / No (1 Shackle= 27.5 m/ fathoms)
STEERING
Rudders 1 (number) 35 ° (maximum angle)
Propellers 1 (number) Direction of turn Left /
Thrusters 1 (number) Bow power 34.2 ton Stern power ton
101.00 m—pe&—— 233.07 m —— P
T draught
42.80 2020 m 54.70 m
ft  in| @
! K

P

1

Type of engine: Diesel Maximum power: 68,667 kW
Type of propellers: Fixed Pitch
Manoeuvring Engine order RPM Toaded Speed(knots) Ballast
Navigation Full 99 25.7
Full ahead 65 17.8
Half ahead 50 13.7
Slow ahead 40 10.8
Dead slow ahead 27 7.2
Dead slow astern 27 Time limit astern (No limit) min
Slow astern 40 Full ahead to full astern sec
Mazx.no.of consec.starts

Half astern 50 Minimum RPM , knots
Full astern 65 Astern power % ahead

FATA
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BEmBEC LOHENEBDEER

iR Z & OHAHE OB ZLLTICE D £ L DD,

mB. 77 7HhONEIELTICRT,

e [deg]

TV UT VI TR a v
[E58 F3 # [deg/min] (57 [deg])
KU Z b7 7 [deg]
fiEIE /) [kns]

iR & (m]

fin B 7L [deg]

fin e B OB ENEEE [/ sec]

i B OB EE L [/ sec]

fi B DR B E L [/ sec]

AT AL —fERRG (D))

Z 7 AR— MERPIREL (HEDD)

Rudder Angle[deg]

Eng

ROT [deg/min]

Drift Angle[deg]
Speed[kns]

Lateral Devation[m]
Heading[deg]

Lat Speed (Lateral Speed)
Lat Speed (FORE) [cm/sec]
Lat Speed (STERN) [cm/sec]
Thruster [%]

Tug [%]
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2 AES—X
2.1 Casel-1

[£REF]

Lateral Deviation[m]

Rudder Angle[deg] == | ateral Devation[m]  =====RudderAngle[deg]
40 1 r 20
30 4
20 4 - 10
10 1 A o)
0 za 1 0
N
20 4 - 10
-30 o
40 + L 20
0 60 120 180 240 300 360 420 480
Time[sec]
Rudder Angle[deg] == RudderAngle[deg]  ====ROT[deg/min] ROT[deg/min]
- r 6.0
30 1 L 40
20 +
10 - = 2.0
0 ———— "\ 0.0
-10 1 '/ L 20
20 o
30 L 40
40 4 L 6.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] ====Heading[deg] Heading[deg]
40 340
30
20 335
Tl — [T\
0 330
-10 J J—
20 325
30
-40 320
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] = Lat.Speed(bow) [cm/sec] | at Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 — 3.0
30 | [‘H ’PU _U- / * )JJV 20
20
10 1.0
0 "\ 00
-10 ]—H U 10
-20
30 20
-40 3.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 4
30 3
20 2
10 1
0 "\ 0
-10 -1
-20 -2
-30 -3
40 4
0 60 120 180 240 300 360 420 480 540
Time[sec]
Eng e==fng ==Speed[kns] Speed(kns]
F.Ahd 8
H.Ahd 6
s.Ahd 4
Ds.Ahd —\ , 2
Stp.Eng =0
0 60 120 180 240 300 360 420 480 540
Time[sec]

B 2.1
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ROT[deg/min]

Rudder Angle[deg] == RudderAngle[deg] === ROT[deg/min]
40 = - 20
30 o
20 4 \ - 10
10 <
0 / N 0
-10
-20 - -10
-30
-40 - -20
480 540 600 660 720
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] ==Heading[deg] Heading[deg]
40 = 360
30 / ; < - 350
20
10 - 340
0 330
10 \/ [ o
-20
30 - 310
-40 = 300
480 540 600 660 720 780
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] ~ ====Llat.Speed(bow) [cm/sec] === LatSpeed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 50
10
0 —— 0
-10 \
-20 -50
-30
-40 -100
480 540 600 660 720 780
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 10
30
20 5
10
0 —~—— 0
-10
-20 -5
-30
-40 -10
480 540 600 660 720 780
Time[sec]
Eng =g e Speed[kns] Speed(kns]
F.Ahd 8
H.Ahd 6
S.Ahd 4
Ds.Ahd 2
Stp.Eng 7 =0
480 540 600 660 720 780
Time[sec]
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(R 77 0—F]

ROT[deg/min]

Rudder Angle[deg] = RudderAngle[deg]  ====ROT[deg/min]
40 = 10
30 +
20 < \ 5
10 A
v
20 - 5
-30 +
-40 4 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === Heading[deg] Heading[deg]
40 020
30
20 010
R
10 K
01 ] 360
V
-20 350
-30
-40 340
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560
Time[sec]
Rudder Angle[deg] e RudderAngle[deg] e L at.Speed(bow) [cm/sec] = Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 50
0 | ]
0 —
—— X — 0
-10 /
-20 -50
-30
-40 -100
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] == DriftAngle[deg] Drift Angle[deg]
40 r 10
30
20 -5
10 \
0 0
-10
-20 " -5
-30
-40 = -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560
Time[sec]
Eng e Eng == Speed[kns] Speedlkns]

8

F.Ahd
H.Ahd
S.Ahd 6
Ds.Ahd
| P_\_L M .

Stp.Eng ™

Ds.Ast

S.Ast 2

H.Ast

F.Ast 0

720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560
Time[sec]
Thruster[%] BowThruster === ROT[deg/min] ROT[deg/min]
100 10

80
60
40 5
20
0

0
-20 3 _I
-40 Y 5
-60 h
-80
-100 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560
Time[sec]
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(32
Thruster[%] BowThruster === Lat.Speed(bow) [cm/sec] Lat Speed[cm/sec]
100 = 30
80 N,
60 ] [ 20
40 / - 10
20 i~
o .-/ \‘-\ = o 0
-20 U
40 l L ﬁ’f’ [ -10
60 ‘ ' - 20
-80
-100 = -30
1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100 2160 2220 2280 2340 2400 2460 2520 2580 2640 2700 2760 2820 2880 2940 30001%060[ )
me[sec
Tug [%] e B TUG == Lat.Speed(bow) [cm/sec] Lat Speed[cm/sec]
100 = 30
80 o \
60 ] [ 20
40 / - 10
20 —]
" A p
0 o= 0
20 =, fp-
40 | - -10
60 - 20
-80
-100 = -30
1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100 2160 2220 2280 2340 2400 2460 2520 2580 2640 2700 2760 2820 2880 2940 30001:7.'060[ ]
me[sec
Tug [%] e RETUG = Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
100 = 30
80 ™~
60 " 20
40
st - 10
20 \ \
0 oy - ~ 0
2 U ! L 10
40 L
’gg | I - 20
-100 = -30
1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100 2160 2220 2280 2340 2400 2460 2520 2580 2640 2700 2760 2820 2880 2940 3000“3060[ ]
me[sec
Eng e——Eng = Speed[kns] Speedkns]
F.Ahd r 20
H.Ahd
S.Ahd = 1.0
Ds.Ahd r I
Stp.Eng 0.0
Ds.Ast
S.Ast 1.0
H.Ast
F.Ast = -2.0
1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100 2160 2220 2280 2340 2400 2460 2520 2580 2640 2700 2760 2820 2880 2940 3000_?060[ ]
ime[sec
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2.2 Casel-2

[£REF]

Lateral Deviation[m]

Rudder Angle[deg] = RudderAngle[deg]  =====Lateral Devation[m]
40 9 ~ 20
30 4
20 4 - 10
10 1 N —
0 AV — o .
210 o
20 - - 10
-30 o
40 + L 20
0 60 120 180 240 300 360 420 480
Time[sec]
Rudder Angle[deg] = RudderAngle[deg]  ====ROT[deg/min] ROT[deg/min]
- = 6.0
30 1 ‘ L 40
20 4
10 = 2.0
0 - — e 0.0
-10 1 L 20
20 o
30 - 40
40 4 L 6.0
0 60 120 180 240 300 360 420 480
Time[sec]
Rudder Angle[deg] e==RudderAngle[deg] ====Heading[deg] Heading[deg]
40 340
30
20 335
: A —
0 A= 330
-10
20 325
30
-40 320
0 60 120 180 240 300 360 420 480
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] = Lat.Speed(bow) [cm/sec] | at Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 —— 3.0
30 —‘ U 20
20
10 1.0
0 - 0.0
-10 10
-20
30 2.0
40 3.0
0 60 120 180 240 300 360 420 480
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 4
30 3
20 2
10 —— 1
0 Pl 0
-10 -1
-20 -2
-30 -3
40 -4
0 60 120 180 240 300 360 420 480
Time[sec]
Eng e=—=[ng ==Speed[kns] Speed[kns]
F.Ahd 8
H.Ahd 6
s.Ahd 4
Ds.Ahd 2
Stp.Eng =0
0 60 120 180 240 300 360 420 480
Time[sec]

%X 2.5 HAEAEHEXO
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(Z&t]

ROT[deg/min]

Rudder Angle[deg] == RudderAngle[deg]  ====ROT[deg/min]
40 = = 20
30 4
20 “\ = 10
07 /__—————’-'-—-f - \ \
0 ; 0
-10
-20 - -10
-30
-40 = -20
480 540 00
Time[sec]
Rudder Angle[deg] e RudderAngle[deg] == Heading[deg] Heading[deg]
40 = 360
30 = 350
20
10 N————— - 340
_—
0 ~— < 330
o - 320
-20
30 - 310
-40 L 300
480 540 600
Time[sec]
Rudder Angle[deg] ——RudderAngle[deg] ~ === Lat.Speed(bow) [cm/sec] == Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 50
10 N
——
0 N ~ o
10 \
-20 -50
-30
-40 -100
480 540 600
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 10
30
20 5
10 \...—-——___\
e ———
0 _— ~. 0
-10 S ———
20 -5
-30
-40 -10
480 540 600
Time[sec]
Eng m f g e Speed[kns] Speed[kns]
F.Ahd 8
H.Ahd 6
S.Ahd 4
Ds.Ahd 2
Stp.Eng =0
480 540 600
Time[sec]

%26 HAHAEHENO
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(R 77 0—F]

Rudder Angle[deg] = RudderAngle[deg] = ====ROT[deg/min] ROT[deg/min]
40 10
30
20 \ ’
" .\_\\
0 7 0
-10 _\
20 5
-30
-40 -10
600 660 720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === Heading[deg] Heading[deg]
40 020
30
20 010
10 \ _\/,.__H
0 360
-10 |/ //\ / ——r——
-20 | 350
-30
-40 340
600 660 720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] e Lat.Speed(bow) [cm/sec] = Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 50
0 P 0
o \ \// /
20 -50
~"
30
-40 -100
600 660 720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] == DriftAngle[deg] Drift Angle[deg]
40 - 10
30 \ /
20 _\ \ -5
10
0 -\\ B sl 0
-10 J \}/ /
-20 - -5
-30
-40 L .10
600 660 720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
Eng emEng == Speed[kns] Speed[kns]
F.Ahd 8
H.Ahd
S.Ahd 6
Ds.Ahd l
Stp.Eng \\ 4
Ds.Ast
S.Ast 2
H.Ast
F.Ast 0
600 660 720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
Thruster[%] BowThruster === ROT[deg/min] ROT[deg/min]
100 10
80
60
40 5
20
0 0
-20
-40
60 5
-80
-100 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440
Time[sec]
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[EEF]

Thruster[%] BowThruster === Lat.Speed(bow) [cm/sec] Lat Speed[cm/sec]
100 9 - 30
80 \
60 - 20
a0 - - 10
20 \
0 0
A}
-20 '
-40 " -10
-60 L 20
-80
-100 - -30
1380 1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100
Time[sec]
Tug [%] e HREITUG === Lat.Speed(bow) [cm/sec] Lat Speed[cm/sec]
100 9, - 30
80 / \\-\.H./'"J
60 - 20
40 . 10
20 \
0 \ 0
-20
40 - -10
-60 . 20
-80
-100 — - 30
1380 1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100
Time[sec]
Tug [%] e RAEETUG = Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
100 ’_ = 30
80 _‘_
60 l " 20
40 . 10
20
; .|,
.
-20 \
-40 - -10
-60 - 20
-80
-100 - -30
1380 1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100
Time[sec]
Eng g = Speed[kns] Speed(kns]
F.Ahd [ 20
H.Ahd
S.Ahd - 1.0
Ds.Ahd
Stp.Eng 0.0
Ds.Ast
S.Ast - -10
H.Ast
F.Ast = -2.0
1380 1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100
Time[sec]
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2.3 Casel-3

[£REt]

Lateral Deviation[m]

Rudder Angle[deg] e | ateral Devation[m] — e=====RudderAngle[deg]
40 20
30
20 10
10 o AW —
0 Ar f 0
-10 \ J_J —
-20 -10
-30
-40 -20
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] = RudderAngle[deg]  ====ROT[deg/min] ROT[deg/min]
40 6.0
30 40
20
10 20
0 0.0
-10 20
-20
30 -4.0
-40 -6.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] e==RudderAngle[deg] === Heading[deg] Heading[deg]
40 340
30
20 335
10
0 1a L\ YA\ [T\ 330
\4
-10
-20 325
-30
-40 320
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] == | at.Speed(bow) [cm/sec] «=| at Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 — ~ 3.0
20 U
20 ,
10 , - 1.0
°1 a 0.0
v \ \ I
-10 - 1.0
-20
30 - 20
-40 = -3.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 r 4
30 -3
20 -2
10 g L1
o 4 "] v\ [T\ — 0
-10 -1
-20 F -2
-30 - -3
-40 L4
0 60 120 180 240 300 360 420 480 540
Time[sec]
Eng e=—=fng ==Speed[kns] Speed[kns]
F.Ahd r8
-6
H.Ahd
s.Ahd [ 4
Ds.Ahd I ,' 2
Stp.Eng 0
0 60 120 180 240 300 360 420 480 540
Time[sec]
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[(Z£t]

'
l‘\:I_\ FIVAC LY,

ROT[deg/min]

Rudder Angle[deg] == RudderAngle[deg] === ROT[deg/min]
40 1 = 20
30 4
20 4 \ = 10
10 / % \
0 -~ 0
-10
-20 - - 10
-30
-40 L 20
420 480 540 600 660 720 780 840
Time[sec]
Rudder Angle[deg] === RudderAngle[deg] ==Heading[deg] Heading[deg]
40 o -~ 360
30 - 350
20
10 / — / x [
0 330
-10 - 320
-20
30 - 310
-40 - 300
420 480 540 600 660 720 780 840
Time[sec]
Rudder Angle[deg] e RudderAngle[deg] e Lat. Speed(bow) [cm/sec] «Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 \ 50
10 /
0 < 0
-10
20 /\ -50
-30 T ~———
-40 -100
420 480 540 600 660 720 780 840
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 10
30
20 \ 5
o [~/ T\
0 0
o /—-N
20 o 5
-30
-40 -10
420 480 540 600 660 720 780 840
Time[sec]
Eng g = Speed[kns] Speed(kns]
F.Ahd 8
H.Ahd 6
S.Ahd 4
Ds.Ahd 2
Stp.Eng * =0
420 480 540 600 660 720 780 840
Time[sec]
1
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(R 77 0—F]

CNEETNT)

ROT[deg/min]

Rudder Angle[deg] = RudderAngle[deg] ====ROT[deg/min]
40 - 10
30 -
20 o 5
10 -
0 4——— = e 0
-10 +
20 - 5
-30
-40 = -10
780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === Heading[deg] Heading[deg]
40 020
30
20 010
10
0 360
-10
-20 350
-30
-40 340
780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === Lat.Speed(bow) [cm/sec] === Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 50
10
0 —_— ——— 0
-10
-20 -50
-30
-40 -100
780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 = 10
30
20 -5
10
0 f— 0
-10
-20 " -5
-30
-40 L .10
780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Eng e Eng == Speed[kns] Speed[kns]
F.Ahd 8
H.Ahd
S.Ahd —_— 6
Ds.Ahd T ——
Stp.Eng 4
Ds.Ast —‘ L_\ :’_
S.Ast I — 2
H.Ast
F.Ast 0
780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Thruster[%] BowThruster === ROT[deg/min] ROT[deg/min]
100 10
80
60
40 5
zg — 0
-20 {
-40
-60 >
-80
-100 -10
780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
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[E=]

— L=

Lat Speed[cm/sec]

Thruster[%] BowThruster ~ ====|at.Speed(bow) [cm/sec]
100 = 30
80 | T
60 M— \ - 20
40 | S——— \ L 10
2 I A 7 ‘
0 0
-20
-40 - -10
-60 L 20
-80
-100 = -30
1260 1320 1380 1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100 2160 2220 1%280[ )
ime([sec]
Tug [%] e RBITUG === Lat.Speed(bow) [cm/sec] Lat Speed[cm/sec]
100 = 30
80 — | ST
60 / \‘ /-l\\‘ =20
40 — -\\ L 10
20 =] ] ‘
0 0
-20
-40 [ -10
-60 )
-80
-100 = -30
1260 1320 1380 1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100 2160 2220 “2280[ ]
ime[sec
Tug [%] ——fEBTUG = LatSpeed|(Stern) [cm/sec] Lat Speed[cm/sec]
100 = 30
80 ./f I l N
- 20
60
_,_,__,_/ | ™
:g \ N o [ 10
o M o
-20
-40 - -10
-60 - 20
-80
-100 = -30
1260 1320 1380 1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100 2160 2220 “2280[ ]
Ime|sec|
Eng e——Eng = Speed[kns] Speedkns]
F.Ahd ~ [ 20
H.Ahd
S.Ahd - 1.0
Ds.Ahd
Stp.Eng I l 0.0
Ds.Ast h—
S.Ast 10
H.Ast
F.Ast = -2.0
1260 1320 1380 1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100 2160 2220 12280[ ]
ime|sec)
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2.4 Case2-1

[£R&t]

Rudder Angle[deg] == RudderAngle[deg]  =====Lateral Devation[m] Lateral Deviation[m]
40 20
30
20 10
10
\ —~
0 \ 0
-10
20 -10
-30
-40 20
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] = RudderAngle[deg]  ====ROT[deg/min] ROT[deg/min]
40 6.0
30 40
20
10 20
0 — I\ £ =\ 0.0
J B
-10 20
-20
30 -4.0
-40 6.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] ====Heading[deg] Heading[deg]
40 340
30
20 335
10
™\ F—
0 330
-10
-20 325
-30
-40 320
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] === RudderAngle[deg] == at.Speed(bow) [cm/sec] «=| at Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 = 3.0
30 —' - 20
20
10 - 1.0
0 e e \ 0.0
-10 - 10
-20
30 - -2.0
-40 = -3.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 - 4
30 L3
20 -2
10 | T L1
: T\ :
-10 -1
-20 -2
-30 F -3
-40 L 4
0 60 120 180 240 300 360 420 480 540
Time[sec]
Eng e=——fng ==Speed[kns] Speed[kns]
F.Ahd -8
H.Ahd N
s.Ahd [ 4
Ds.Ahd ‘ 2
Stp.Eng 0
0 60 120 180 240 300 360 420 480 540
Time[sec]
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[(ZEt]

Rudder Angle[deg]
40 1

e RudderAngle[deg] === ROT[deg/min]

CNEETNT)

ROT[deg/min]

= 20
30 4
20 4 = 10
10 + &a\
0 —_ ] 0
-10
-20 = -10
-30
40 = L 20
420 480 540 600 660 720
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === Heading[deg] Heading[deg]
40 = 360
30 " 350
20
10 __,_/_ - 340
0 —_ ] 330
o - 320
-20
30 - 310
-40 L 300
420 480 540 600 660 720
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === Lat.Speed(bow) [cm/sec] === Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 50
10 /]
0 _.;—c<” - 0
-10
-20 -50
-30
-40 -100
420 480 540 600 660 720
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 10
30
20 5
10 __,—/_ \
) —‘R\ 0
B ————
10
20 -5
-30
-40 210
480 540 600 660 720
Time[sec]
Eng ——Eng =——Speedkns] Speed[kns]
F.Ahd 8
H.Ahd 6
S.Ahd 4
Ds.Ahd ’ 2
Stp.Eng 7 =0
420 480 540 600 660 720
Time[sec]

EX 214 HAHEAEHEXO
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Ui - 77 0—F)

CNEETNT)

Rudder Angle[deg] ——RudderAngle[deg] === ROT|[deg/min] ROT[deg/min]
40 1 10
30 /
20 4 _—\ r— 5
10 7 ’ B——g
0 \ i 0
L
-10 \ ~ ’
20 1 5
-30 =
-40 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === Heading[deg] Heading[deg]
40 020
30
20 — 010
: \ —]
0 7 360
" L/
20 350
30
-40 340
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] == Lat.Speed(bow) [cm/sec] == Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 —_— _‘_ 50
10 ————&
0 ™ 0
[t
o L
-20 \ -50
-30
-40 -100
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Rudder Angle[deg] === RudderAngle[deg] == DriftAngle[deg] Drift Angle[deg]
40 r 10
30
20 —-\ —\ -5
10 _.___} —
5 P - 6
-10 \ ’
-20 " -5
-30
-40 - -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Eng e Eng == Speed[kns] Speedlkns]
F.Ahd 8
H.Ahd
S.Ahd 6
Ds.Ahd
Stp.Eng T~ 4
Ds.Ast
S.Ast 2
H.Ast
F.Ast 0
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Thruster[%] = BowThruster === ROT[deg/min] ROT[deg/min]
100 10
o /
60
40 5
20
0 ~ 0
20 S
-40
-60 >
-80
-100 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
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2.5 (Case2-2

[£REF]

.

Lateral Deviation[m]

Rudder Angle[deg] e RudderAngle[deg]  ====Lateral Devation[m]
40 20
30
20 | "] 10
10
0 ~ o 0
10 v
20 -10
30
40 20
0 60 120 180 240 300 360 420 TflSCl[ ]
me[sec
Rudder Angle[deg] —=—RudderAngle[deg] = ====ROT[deg/min] ROTIdeg/min]
40 6.0
30 40
20
10 2.0
0 =" =X — N 0.0
-10 20
-20
30 40
-40 6.0
0 60 120 180 240 300 360 420 TI480[ ]
me[sec
Rudder Angle[deg] = RudderAngle[deg] ==Heading[deg] Heading[deg]
40 340
30
20 335
10
0 = = = / 330
-10
-20 325
-30
-40 320
0 60 120 180 240 300 360 420 T_48Cl[ )
ime[sec
Rudder Angle[deg] == RudderAngle[deg] === Lat.Speed(bow) [cm/sec] «—Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 20.0
30
20 10.0
10 e - =
-10
-20 -10.0
-30
-40 -20.0
0 60 120 180 240 300 360 420 _ﬁSO 1sed]
me|[sec]
Rudder Angle[deg] e RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 -4
30 L3
20 -2
10 /?t_— =
-10 V -1
-20 -2
-30 - -3
-40 L4
0 60 120 180 240 300 360 420 T_480[ )
ime[sec
Eng g ==Speed[kns] Speed[kns]
F.Ahd re
H.Ahd [ ©
S.Ahd [ 4
Ds.Ahd ‘ [ 2
Stp.Eng 0
0 60 120 180 240 300 360 420 T_480[ )
ime|[sec
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[Z&t]

ROT[deg/min]

Rudder Angle[deg] e RudderAngle[deg]  ====ROT[deg/min]
40 9 = 20
30 H
20 = \ = 10
10 4 _/ \ \
0 ﬁ'{ 0
.10 L
-20 4 = -10
-30 +
40 L 20
420 480 540 600 660 720 “7"812[52‘:]
Rudder Angle[deg] = RudderAngle[deg] === Heading[deg] Heading[deg]
40 r 360
30 - 350
ig = 340
0 ] “\ 330
-10 - 320
;g - 310
40 L 300
420 480 540 600 660 720 117n812[sec]
Rudder Angle[deg] = RudderAngle[deg] === Lat.Speed(bow) [cm/sec] —— Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 50
10 __’L_,_f—
0 0
-10 \
20 ¥.——/”\ -50
30
-40 -100
420 480 540 600 660 720 T|7"812[SEC]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 10
30
20 5
: / \
0 ~—_ ) 0
-10
-20 -5
-30
-40 -10
420 480 540 600 660 720 117[32[58‘:]
Eng e ENg = Speed[kns] Speed[kns]
F.Ahd 8
H.Ahd 6
S.Ahd 4
Ds.Ahd J 2
Stp.Eng =0
420 480 540 600 660 720 Ti7r§g[sec]

BX 2,17 HAHEBBEAEXKO

— 124 —



(iR -

770—7F]

CNEETNT)

ROT[deg/min]

Rudder Angle[deg] = RudderAngle[deg] === ROT[deg/min]
40 = 10
30 =
20 4 5
10 = /
0 N\ \ 0
-10 + f
-20 4 -5
-30
-40 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === Heading[deg] Heading[deg]
40 020
30
20 010
10 /' \
0 1 ! 360
-10 \/
-20 350
-30
-40 340
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === Lat.Speed(bow) [cm/sec] === Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 50
10
0 0
-10 6
-20 -50
-30
-40 -100
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 - 10
20 - 5
10
0 0
-10 7
20 - 5
-30
-40 L .10
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
Eng e Eng === Speed[kns] Speed(kns]
F.Ahd 8
H.Ahd
S.Ahd 6
Ds.Ahd —‘ \
Stp.Eng 1 e I 4
Ds.Ast
S.Ast o ———— 2
H.Ast
F.Ast 0
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
Thruster[%] = BowThruster === ROT[deg/min] ROT[deg/min]
100 10
80 ,
60 l
40 5
20
0 i 0
-20 —————
-40
60 5
-80
-100 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380
Time[sec]
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2.6 Case2-3

[£REF]

Rudder Angle[deg] == RudderAngle[deg]  =====Lateral Devation[m] Lateral Deviation[m]
40 20
30
20 10
10 et
0 0
\W]
10 w/| v \ / Y
-20 -10
-30
-40 20
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] == RudderAngle[deg]  ====ROT[deg/min] ROT[deg/min]
40 6.0
30 40
20
10 2.0
0 0.0
-10 20
-20
30 -4.0
-40 6.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] e==RudderAngle[deg] ====Heading[deg] Heading[deg]
40 340
30
20 335
10
o =\ /\ A\ N~ LT 330
V \W]
-10
-20 325
-30
-40 320
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] ==L at.Speed(bow) [cm/sec] = Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 —_ - - - 3.0
0 i ] [ .o
20
0 o) N~ ST [
0 U \W] 0.0
-10
- -1.0
-20
30 - 2.0
-40 = -3.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] === RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 - 4
30 L3
20 -2
10 .:,- L1
0 0
10 /| v Y e
-20 F -2
-30 -3
-40 )
0 60 120 180 240 300 360 420 480 540
Time[sec]
Eng e=—=fng ==Speed[kns] Speed[kns]
F.Ahd r8
H.Ahd [ ¢
s.Ahd 4
Ds.Ahd ‘ 2
Stp.Eng 0
0 60 120 180 240 300 360 420 480 540
Time[sec]
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[Z&t]

ROT[deg/min]

Rudder Angle[deg] == RudderAngle[deg] === ROT[deg/min]
40 = - 20
30 +
20 = / = 10
10 1
0 L~ A 0
101 V
-20 = - -10
-30 +
-40 4 L 20
480 540 600 660 720 780 40
Time[sec]
Rudder Angle[deg] === RudderAngle[deg] ==Heading[deg] Heading[deg]
40 = 360
30 - 350
20
- 340

—— A 330
-10 V = 320
20
30 - 310
-40 - 300
480 540 600 660 720 780 840
Time[sec]
Rudder Angle[deg] ———RudderAngle[deg] ~ === Lat.Speed(bow) [cm/sec] === Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100

30
20 50
_/-"'-_——
lg — 0
\

-10 /-/—\
-20

\<

-50
-30
-40 -100
480 540 600 660 720 780 840
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 10
30
20 5
10
0 A 0
-10
20 5
-30
-40 -10
480 540 600 660 720 780 840
Time[sec]
Eng g = Speed[kns] Speed[kns]
F.Ahd 8
H.Ahd 6
S.Ahd 4
Ds.Ahd 2
Stp.Eng ¥ T =0
480 540 600 660 720 780 840
Time[sec]

7/
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[Ri#- 77 0—F]

CNEETNT)

ROT[deg/min]

Rudder Angle[deg] = RudderAngle[deg] ===ROT[deg/min]
40 = 10
30 4
20 4 5
10 A
0 - 0
210 =
-20 - 5
230 =
-40 4 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560 1620 1680
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === Heading[deg] Heading[deg]
40 020
30
20 010
10
0 = 360
-10 U -
-20 350
-30
-40 340
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560 1620 1680
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] e | at. Speed(bow) [cm/sec] = Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 50
10 I —
0 4 —wﬂ—f 0
-10
20 50
30
-40 -100
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560 1620 1680
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 T - 10
30
20 - 5
10
0 0
-10
20 L -5
-30
-40 L .10
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560 1620 1680
Time[sec]
Eng e Eng == Speed[kns] Speed(kns]
F.Ahd 8
H.Ahd
S.Ahd ﬂ\ 6
Ds.Ahd
Stp.Eng \\ I 4
Ds.Ast Te—,
S.Ast 2
H.Ast
F.Ast 0
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560 1620 1680
Time[sec]
Thruster[%] BowThruster —====ROT[deg/min] ROT[deg/min]
100 10
80
60
40 5
20
0 0
-20
-40
-60 N
-80
-100 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320 1380 1440 1500 1560 1620 Tllr?18eo[sec]
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2.7 Case3-1

[£REt]

Lateral Deviation[m]

Rudder Angle[deg] == RudderAngle[deg] = =====Lateral Devation[m]
40 20
30
20 10
10
0 ~ \ 0
-10
-20 -10
-30
-40 -20
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] ——RudderAngle[deg]  ====ROT[deg/min] ROT[deg/min]
40 6.0
30 ] 40
20
10 20
0 AN\ A = 0.0
-10 ] 20
-20
30 -4.0
-40 6.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === Heading[deg] Heading[deg]
40 340
30
20 335
10 e ecaan e ——
0 Y Y — \ 330
-10
-20 325
-30
-40 320
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] = Lat.Speed(bow) [cm/sec] | at Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 - - — - 3.0
30 —‘ - 20
20
10 l- - 1.0
0 Y N s 0.0
-10 - 1.0
-20
30 - 2.0
-40 = -3.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 - 4
30 L3
20 -2
10 | " D L1
o " J_Ll_hr‘ 0
-10 -1
-20 F -2
-30 -3
-40 - -4
0 60 120 180 240 300 360 420 480 540
Time[sec]
Eng e=—=fng == Speed[kns] Speed(kns]
F.Ahd r 8
H.Ahd [ ©
S.Ahd 4
Ds.Ahd 2
Stp.Eng 0
0 60 120 180 240 300 360 420 480 540
Time[sec]
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[(Z£t]

=

Rudder Angle[deg] ———RudderAngle[deg] === ROT[deg/min] ROT[deg/min]
40 1 = 20
30 o
20 o /___‘ L 10
101 L,.,-C N
0 0
-10 o U
-20 4 - -10
30
-40 # L 20
480 540 600 660 720 780 840
Time[sec]
Rudder Angle[deg] === RudderAngle[deg] === Heading[deg] Heading[deg]
40 = 360
f
30 L — - 350
20 ||
10 /] :r/ / _\ - 340
0 : 330
-10 — - 320
-20
30 - 310
-40 L 300
480 540 600 660 720 780 840
Time[sec]
Rudder Angle[deg] «=RudderAngle[deg] === Lat.Speed(bow) [cm/sec] «Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 —\ /_ 50
10 /] |
0 L_' A S —— 0
-10 \\__,-——-—— ‘}J——-
-20 -50
-30
-40 -100
480 540 600 660 720 780 840
Time[sec]
Rudder Angle[deg] === RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 10
30
2 /T \ /| ’
10
0 L‘\ X , 0
-10 h—
-20 -5
-30
-40 -10
480 540 600 660 720 780 840
Time[sec]
Eng e g == Speed[kns] Speed[kns]
F.Ahd 8
H.Ahd 6
S.Ahd 4
Ds.Ahd __‘ 2
Stp.Eng =0
480 540 600 660 720 780 840
Time[sec]
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[RE-770—F])

CNEETNT)

ROT[deg/min]

Rudder Angle[deg] = RudderAngle[deg]  ====ROT[deg/min]
40 1 10
30
20 4 5
10 A
p— S
0 0
-10
20 - 5
-30
-40 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === Heading[deg] Heading[deg]
40 020
30
20 010
10
0 _J \ 360
-10
20 350
-30
-40 340
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === Lat.Speed(bow) [cm/sec] === LatSpeed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 50
10 \
0 ,L; Lt 0
-10
-20 -50
-30
-40 -100
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 - - 10
30
20 - 5
10
b ——
0 ——I _—-’_Y 0
-10
-20 L -5
-30
-40 L .10
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Eng e fng == Speed[kns] Speed[kns]
F.Ahd 8
H.Ahd
S.Ahd 6
Ds.Ahd \
Stp.Eng \ l ‘ 4
Ds.Ast |__\ n —
———
S.Ast — 2
H.Ast
F.Ast 0
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
Thruster[%] e BowThruster === ROT[deg/min] ROT[deg/min]
100 10
80
60
40 5
2 —_ [ — | .
20 r
-40
60 5
-80
-100 -10
720 780 840 900 960 1020 1080 1140 1200 1260 1320
Time[sec]
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[%&

]

Cﬁ—iﬁ— S

Thruster([%] == BowThruster === Lat.Speed(bow) [cm/sec] Lat Speed[cm/sec]
100 | - 30
80 o — Pl
60 — M - 20
a0 ,_,-F'"'r/ - 10
20 n \\_,..
0 T 0
-20 L
-40 - -10
-60 L 20
-80
-100 = -30
1440 1620 1800 1980 2160 2340 2520 2700 2880 3060
Time[sec]
Tug [%] —— B TUG  —— Lat.Speed(bow) [cm/sec] Lat Speed[cm/sec]
100 | - 30
80 o —l'"'\l—l'\“\
60 N M - 20
40 ,_r"'"-"-‘-i. \‘.\-F’- 10
20
0 0
-20
40 - .10
-60 . 20
-80
-100 = -30
1440 1620 1800 1980 2160 2340 2520 2700 2880 3060
Time[sec]
Tug [%] e HREETUG = Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
100 —_— = 30
80 N /F
0 w’,—ﬂ‘—\‘\ ‘J‘_F’,.r - 20
40 - 10
20 ""‘V-“'"'
0 0
20 I |1 ] |
40 i | - -10
-60 . 20
-80
-100 = -30
1440 1620 1800 1980 2160 2340 2520 2700 2880 3060
Time[sec]
Eng e=——Eng == Speed[kns] Speed[kns]
F.Ahd r 20
H.Ahd
S.Ahd - 1.0
Ds.Ahd \ »
Stp.Eng —u. ‘% 0.0
Ds.Ast
S.Ast [ 10
H.Ast
F.Ast = -2.0
1440 1620 1800 1980 2160 2340 2520 2700 2880 3060
Time[sec]
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2.8 Case3-2

[£R&t]

Rudder Angle[deg] == RudderAngle[deg]  =====Lateral Devation[m] Lateral Deviation[m]
40 20
30
20 10
10
0 0
210 \—L/
-20 -10
-30
-40 -20
0 60 120 180 240 300 360 420
Time[sec]
Rudder Angle[deg] =—RudderAngle[deg] ====ROT[deg/min] ROT(deg/min]
40 6.0
30 4.0
20
10 20
0 / T 00
e —————— .
-10 -2.0
-20
30 -4.0
-40 -6.0
0 60 120 180 240 300 360 420
Time[sec]
Rudder Angle[deg] e==RudderAngle[deg] ====Heading[deg] Heading[deg]
40 340
30
20 335
—_—
0 330
-10 \-L/
-20 325
-30
-40 320
0 60 120 180 240 300 360 420
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] == at.Speed(bow) [cm/sec] «=| at Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 = 3.0
50 L |
20
10 ’— - 1.0
0 / \ 0.0
10 - -1.0
-20
30 - 2.0
-40 = -3.0
0 60 120 180 240 300 360 420
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 - 4
30 -3
20 -2
S —— —_—
10 —’______,_*__/__ T~ "] L1
o e T\ —_— o
-10 \—\_/ -1
20 -2
-30 - -3
-40 L 4
0 60 120 180 240 300 360 420
Time[sec]
Eng g == Speed[kns] Speedlkns]
F.Ahd -8
H.Ahd [ ¢
S.Ahd [ 4
Ds.Ahd —\ , [ 2
Stp.Eng 0
0 60 120 180 240 300 360 420
Time[sec]
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(% £t]

(st — jore—
l‘\:I_\ FIVAC LY,

ROT[deg/min]

Rudder Angle[deg] e RudderAngle[deg] === ROT[deg/min]
40 = - 20
30 4
10 4 \\
[ ———
0 e 0
-10
-20 = - -10
-30 o
-40 4 - 20
360 420 480 540 600 660 720 780
Time[sec]
Rudder Angle[deg] === RudderAngle[deg] === Heading[deg] Heading[deg]
40 —— - 360
30 [y - 350
20
10 ’ \ = 340
0 330
-10 320
-20
30 - 310
-40 = 300
360 420 480 540 600 660 720 780
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === Lat.Speed(bow) [cm/sec] e Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30
20 /,_\ 50
10
s
0 < 0
-10
-20 -50
-30
-40 -100
360 420 480 540 600 660 720 780
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 10
30
20 5
10 / \
0 ——— 0
-10 _—,_-——""‘_—-
20 -5
-30
-40 -10
360 420 480 540 600 660 720 780
Time[sec]
Eng [ g e Speed[kns] Speed(kns]
F.Ahd 8
H.Ahd 6
S.Ahd 4
Ds.Ahd 2
Stp.Eng 7 T =0
360 420 480 540 600 660 720 780
Time[sec]
1
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[ 77 0—F]

CNEETNT)

ROT[deg/min]

Rudder Angle[deg] = RudderAngle[deg]  ====ROT[deg/min]
40 1 10
30 4
20 A \ 5
10 = 5
04— — 0
-10 +
-20 A -5
-30 +
-40 4 -10
680 740 800 860 920 980 1040 1100 1160
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === Heading[deg] Heading[deg]
40 020
30
20 \ 010
10 \
0 360
-10
-20 350
-30
-40 340
680 740 800 860 920 980 1040 1100 1160
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] e | at.Speed(bow) [cm/sec] = Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 | 100
30
20 \ 50
10 s
0 —— 0
-10
-20 -50
-30
-40 -100
680 740 800 860 920 980 1040 1100 1160
Time[sec]
Rudder Angle[deg] === RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 = 10
30
20 \ B
10 \ e
0 = /A \ 0
-10
-20 " -5
-30
-40 = -10
680 740 800 860 920 980 1040 1100 1160
Time[sec]
Eng e Eng == Speed[kns] Speed[kns]
F.Ahd 8
H.Ahd
S.Ahd 6
Ds.Ahd —
Stp.Eng _\ ™ 4
Ds.Ast \: E
S.Ast 2
H.Ast _I_r
F.Ast 0
680 740 800 860 920 980 1040 1100 1160
Time[sec]
Thruster[%] BowThruster === ROT[deg/min] ROT[deg/min]
100 10
80
60
40 5
20
0 — 0
-20
-40
60 5
-80
-100 -10
680 740 800 860 920 980 1040 1100 1160
Time[sec]
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[E=F]

— L=

Lat Speed[cm/sec]

Thruster[%] = BowThruster === Lat.Speed(bow) [cm/sec]
100 - = 30

& | 4 \ - 20
60
40 - - ] o
20 T \ haa?

0 = 0
-20 t n [
40 1 -1
-60 L 20
-80
-100 - -30

1040110011601220128013401400146015

Tug [%]
100

80
60
40
20

0
-20
-40
-60
-80
-100

1040110011601220128013401400146015

Tug [%]
100

80
60
40
20

0
-20
-40
-60
-80
-100

Eng
F.Ahd
H.Ahd
S.Ahd
Ds.Ahd
Stp.Eng
Ds.Ast
S.Ast
H.Ast
F.Ast

— RETUG

S

| at.Speed(bow)

AT

[em/sec]

rd

{ar—rt

N

J

20158016401700176018201880194020002060212021802240230023602420248025402600266027202780

\

Time[sec]

Lat Speed[cm/sec]

= 30
- 20

= 10

— RETUG

T

al

= Lat Speed(Stern)

\

[em/sec]

At

= -30

20158016401700176018201880194020002060212021802240230023602420248025402600266027202780

Time[sec]

Lat Speed[cm/sec]

- 30

" 20

AN

rd

)

e f g == Spe ed [k nS]

/V

7

N

104011001160122012801340140014601520158016401700176018201880194020002060212021802240230023602420 24802540260026602720112780
Im

= -30

e[sec]

Speed[kns]

= 2.0

- 1.0

0.0

- -1.0

= -2.0

104011001160122012801340140014601520158016401700176018201880194020002060212021802240230023602420248025402600266027202780
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2.9 (Case3-3

[£REF]

CNEETNT)

Lateral Deviation[m]

Rudder Angle[deg] == RudderAngle[deg]  =====Lateral Devation[m]
40 20
30
20 10
10
0 - \ 0
-10 U
-20 -10
-30
-40 -20
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] = RudderAngle[deg]  ====ROT[deg/min] ROT[deg/min]
40 6.0
30 40
20
10 20
0 0.0
-10 20
-20
30 -4.0
-40 -6.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] e==RudderAngle[deg] ====Heading[deg] Heading[deg]
40 340
30
ig —— - 335
0 Von W ~—\_/— 330
-10 U
-20 325
-30
-40 320
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] = Lat.Speed(bow) [cm/sec] = Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 = 3.0
30 —’- U - 20
20
10 - 1.0
0 N\ —\_/— 00
-10 )
-20
30 - 20
-40 = -3.0
0 60 120 180 240 300 360 420 480 540
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 - 4
30 L3
20 -2
10 -———/\" L1
o — \ —\__/— o
-10 \.-/_ L 1
-20 -2
-30 - -3
-40 - -4
0 60 120 180 240 300 360 420 480 540
Time[sec]
Eng e—fng ==Speed[kns] Speed[kns]
F.Ahd -8
H.Ahd [ ©
S.Ahd 4
Ds.Ahd I 2
Stp.Eng 0
0 60 120 180 240 300 360 420 480 540
Time[sec]
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[(ZEt]

ROT[deg/min]

Rudder Angle[deg] == RudderAngle[deg]  ====ROT[deg/min]
40 = - 20
30 4
20 - \ - 10
10 / \
—
0 o~ 0
-10 +
-20 4 - -10
-30 +
-40 = -20
420 480 540 600 660 720
Time[sec]
Rudder Angle[deg] === RudderAngle[deg] ==Heading[deg] Heading[deg]
40 = 360
e
30 - 350
20
10 ‘_ = 340
—_—ﬂ-‘-‘—
0 330
-10 - 320
-20
30 = 310
-40 = 300
420 480 540 600 660 720
Time[sec]
Rudder Angle[deg] ———RudderAngle[deg] ~ ===Lat.Speed(bow) [cm/sec] === Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30 \
20 50
10 R\
0 e 0
10 \
-20 -50
-30
-40 -100
420 480 540 600 660 720
Time[sec]
Rudder Angle[deg] e RudderAngle[deg] === DriftAngle[deg] Drift Angle[deg]
40 10
30 \
20 5
; i \
T e —
0 0
~—
-10 \
-20 -5
-30
-40 -10
420 480 540 600 660 720
Time[sec]
Eng NG = Speed[kns] Speed(kns]
F.Ahd 8
H.Ahd 6
S.Ahd 4
Ds.Ahd , 2
Stp.Eng ¥ =0
420 480 540 600 660 720
Time[sec]
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(i - 77 0—F)

CNEETNT)

ROT[deg/min]

Rudder Angle[deg] = RudderAngle[deg]  ====ROT[deg/min]
40 - 10
30 o L
20 < 5
o \\ —
P BNV / — o
109 \_/
20 - 5
-30 =
-40 -10
660 720 780 840 900 960 1020 1080 1140 1200
Time[sec]
Rudder Angle[deg] «—RudderAngle[deg] ====Heading[deg] Heading[deg]
40 020
30 J
20 010
" AL \
0 360
M A \/
20 350
30
-40 340
660 720 780 840 900 960 1020 1080 1140 1200
Time[sec]
Rudder Angle[deg] == RudderAngle[deg] e at.Speed(bow) [cm/sec] = Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
40 100
30 )
20 50
10 e
AT 3
0 ——— 0
-10
-20 -50
-30
-40 -100
660 720 780 840 900 960 1020 1080 1140 1200
Time[sec]
Rudder Angle[deg] = RudderAngle[deg] == DriftAngle[deg] Drift Angle[deg]
40 r 10
30 ¥
20 l_/—,-/_ -5
10 \
o e
04— 0
-10
20 L s
-30
-40 = -10
660 720 780 840 900 960 1020 1080 1140 1200
Time[sec]
Eng e Eng == Speed[kns] Speedfkns]
F.Ahd 8
H.Ahd
S.Ahd 6
Ds.Ahd —‘ '\
Stp.Eng \ T 4
Ds.Ast T e——
T ———
S.Ast 2
H.Ast
F.Ast 0
660 720 780 840 900 960 1020 1080 1140 1200
Time[sec]
Thruster[%] BowThruster === ROT[deg/min] ROT[deg/min]
100 10
80
60
40 5
20
0 \ _—— 0
-20
-40
60 5
-80
-100 -10
660 720 780 840 900 960 1020 1080 1140 1200
Time[sec]
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T NL)

[EF]

Thruster([%] BowThruster === Lat.Speed(bow) [cm/sec] Lat Speed[cm/sec]
100 — = 30
80 ,r""‘ |
60 -\.r'J \ = 20
40
= 10
20 M
0 0
-20
-40 - -10
-60 - -20
-80
-100 = -30
1080 1140 1200 1260 1320 1380 1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100 2160 2220 2280 2340 2400 T2|460[ )
me[sec
Tug [%] —— METUG  —— Lat.Speed(bow) [cm/sec] Lat Speed[cm/sec]
100 — = 30
80 4/ ]
60 ‘_,_,J \ - 20
40
/ - 10
20
0 0
-20
40 - -10
-60 . 20
-80
-100 = -30
1080 1140 1200 1260 1320 1380 1440 1500 1560 1620 1680 1740 1800 1860 1920 1980 2040 2100 2160 2220 2280 2340 2400 1_2|460[ ]
me[sec
Tug [%] ——METUG  ——Lat Speed(Stern) [cm/sec] Lat Speed[cm/sec]
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